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MECE-003 : ACTUARIAL ECONOMICS : 
0 	 THEORY AND PRACTICE 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt questions from each section as per instructions 

given under each section. 

SECTION - A 

Answer any two questions from this section : 
2x20=40 

1. Distinguish between the single period binary 

model and the multi-period binary model. How 

do you formulate a binary model ? Describe the 

method of determination of right price. 

2. Define a life table. State the meanings of various 

columns of a life table and explain how a life table 

can be constructed from the usually available data. 

3. What is the difference between effective interest 

rate and nominal interest rate ? Find the relation 

between them. 

4. Discuss the features of infinite time ruin 

probability. What do you understand by 

asymptotics for ruin probabilities ? 
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SECTION - B 
Answer any five questions from this section : 

5x12=60 

	

5. 	Define probability mass function (PMF) and 

probability density function (PDF). Discuss their 

properties. 

	

6. 	Calculate the expectation of a random variable 

normally distributed with parameters 11, and off. 

	

7. 	Explain the terms : 

(a) Term insurance 

(b) Pure endowment. 

	

8. 	What is stochastic interest rate ? Discuss any one 

of the important stochastic interest rate models. 

	

9. 	Derive the formula of compound poisson 

distribution in life insurance premium. 

10. Distinguish between single payment and 

multi-payment cases in reinsurance pricing. 

11. What do you understand by 

(a) unearned premium reserve (UPR), 

(b) incurred but not reported claims (IBNR), 

(c) incurred but not enough reported (IBNER) ? 

12. Discuss the aspects of insurance industry that 

need to be regulated. 
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